Tryktabstabel termic®
TriaVent SONO

Erf Equivalent length
(=]
p » ZEQR D Z =Equavalent length, m
300 Q = Bend loss coefficient
90 S D = Duct diameter, mm
Example
Air Velocity =5m/s 90" Bend =1 piece
= Duct Diameter = 203 mm Duct Length=4m
A R Pressure Loss =?
== Pressure Loss for 1 m Duct = 3 Pa(TABLE-1)
[Temperature | -20°C | -0°C | +20°C | +40°C | +60°C | +80°C [+100°c|] ~ Bend Loss Coefficient =3 é;':ﬁ'-":‘zi
|Correction Fac{ 1.158 | 1.073 [ 1.000 | 0.936 | 0.880 | 0.830 [ 0.785 |  Equivalent Length =3x3g0 = 2:03m
( R/D=1 ) Pressure Loss =(2.03 +4)mx 3 Pa/m
=18.09 Pa
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PRESSURE LOSS PER ONE METER OF FULLY EXTENDED DUCT ( Pa )

BG Termic Plus | @stbirkvej 2 | 5240 Odense N@ | Tif. 65 99 49 95 | info@termicplus.dk | www.termicplus.dk




